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ECONOMICS

( Honours Core )

Paper : ECO-HC-3036

( Statistical Methods for Economics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x10=10
o ePPTRE Te frd
(a) What is statistic?
aifewsfe 2

(b) What is the first moment about the
mean?

A A% o 5 2

{c) Define probability.
SEIfaer vigal e
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(2)

(d) When are the two events said to be
mutually exclusive?

R 1 T “A=eiRe SR BT T =2
(e) What is random variable?
i v 1 2

(f) Is binomial distribution a distribution of
continuous random variable?

Tasiw 36 Sfoze A2 Topa IB 20T 2

(g9 What is the shape of the normal curve?
FOIEF @R SFS (FCTA ?

(h) What is sample?
afonf 52

(i What is correlation?
T2 2

() Mention one property of random
sample.
e aiforq @bt & Seay 41 |

2. Answer the following questions :

o PR B fra

(a) Distinguish between population and
sample.
TR o AfSea e onefe forar |
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2x5=10

( Continued )

(b)

()

(@)

(e)

(3)

State the addition theorem of
probability.
IR @15 ©GLo! SCE 47 |

Mention two properties of the uniform
distribution.

ARG (ol 4 SeEd 4 |

What is covariance?

FRemad 52

What is stratified random sampling?

TaIge I Afewa 32

3. Answer any four of the following questions :

5x4=20

o PPTRd R I iR Tes firn

(@)

(b)
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Prove the multiplication theorem of
probability.

SRR *[3¢1 ©GLBT 21T 51 |
A random variable X assumes only three

values -1, 0, 1 with equal probabilities.
Find E (X).

951 AT o X (& Wiq fofo1 919 -1, 0, 1
R, RPHR TS TWH | E (X) S |
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(c)

(@)

(e)

(4)

Explain the concept of distribution
functions for jointly distributed random
variables.

@ed %S AR ST 4B T
Y[REMCHT T 41 |

Mean of a binomial distribution is 4 and
its standard deviation is +/3. Obtain the
values of n, p and gq.

faom IB9 GBR NG 4 HF T [ 3.
n, p SF g 3 I Sferear

Explain Bayes’ rule.
2@ form T 4,1 |

Explain the multistage random
sampling.

T2EAN AR 2AfSHT T 34T |

4. Answer any four of the following questions :

10x4=40

eI TR ﬁczﬂmwﬁﬁ‘m%me:

(@)
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Derive the mean and varance of

binomial distribution. 5+5=10

ﬁ%a@wwwmﬁfﬁﬁwl

( Continued )

(b)

(c)

(@)

(e)

24A/85

(3S)

Define probability mass function (pmf).
Derive Poisson distribution as a limiting
case of binomial distribution.

TN 9 FoW (pmf)F e | faem
%9 e G611 o1l “Ri5 35+ Te |

Discuss the properties of normal
distribution.

FroIfF A9 43T ST 347 |

Find Karl Pearson’s correlation
coefficient from the following data and

interpret the result : 8+2=10

T OU[ C[ FE EEc T S90S

Te1edl S T A T4 ;

X oS G AT SRR TG RO ()
Ve s a0l 50 e h 0 MOS0 00

An unbiased die is thrown. Find the
probability that the number obtained is
either an even number or a multiple of
three or both.

TR (o0 <01 weed TF1 AR
SRAICET @61 IW TR A 39 8 I [AGR
@ERE TS SeEed |
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(9)
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What are the principal steps in a sample

survey? Discuss.

e FRFR 2= PR & 62 e

91|

Mention the difference between mean

deviation

standard deviation.

Mention two properties of standard
deviation. Calculate mean and standard
deviation from the following data :

2+2+6=10

G bl oF WS [oed Aeq 2N S
91 | T v qo1 4 e 91 | were fre
oYd oq ofafes T o e [eem ey

9l :

Age (F)
0-10
1020
20-30
3040
40-50
50-60
60-70
70-80

15
15
23
22
25
10
S
10

Persons (31f&)

{ Continued )

(7)

(h) Define the following with the help of one

example each

ATOIFCA AOIT THIRIPTE, ©ote (MAICAIRa Hsel

et

(i) Sample space

aifor s7af2

(ii) Conditional probability
ST TSIl

(iii) Independent events

o 9ol

(i A bag contains 5 white and 4 black
balls. Two balls are drawn at random
one after the other without replacement.
Find the probability that both balls
drawn are black. 6+4=10

Bl @S 5 Bl 5 WF 4 B F'e 9 g |

o/ TIPS TFMT GOR Pre S 2 B
7o TR R | Y T A (@EN e

g 41 1
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